~~ Unit 4, Page 9 ~~ I can graph a system of fines to find the

\ System of linear equations contains two or more equations e.g. . x — 2y = —4 and y = x — 2. The solution of
uch a system is the ordered pair that is a solution to both equations. To solve a system of linear equations
raphically we graph both equations in the same coordinate system. The solution to the system will be in the
oint where the two lines intersect.
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Vhere the two lines intersect is your solution to the |
ystem which means the point works in both equations.
iolution: ; Show how the point satisfies both equah‘ons
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sraph the following systems of equations to find their solution.
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% The lines intersact at 1 point.
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Yy=x-+4
y= ~x+ 86

have different slopes
The system has 1 solution (1, §)

Graph the following systems of
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The lines do not intersect;
they are parallel. This
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The lines intersect at every point;
they are the same line. This system
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) . System has no solution. _ has infinitely many solutions.
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Slope ~ -1
The equations of the linear tystem y-intercepts ~ -2
y = xst 3 e e m—
y=x4+1 The equations of the linear system
have the same slopes and L"] i 5
different y-intercepts. 7
The system has no solution. have the same slopes and the same
y-intercepts. They represent the
NS same line.
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equations to find their solution.
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